Eoab 2N =
—J—A 3533 éiZ§CiJ§E§;/V

TH4 | Re6fL fEERER - mEEE SEEETE G0 TRl FEXy TH M HERT - (ETE
) THERXS TH RS
TFX gy « TRE - FER - FmB1 FS <X{va e (FimE) & (4mE) B R
TH RS
= 1
iLET
= 1
& BIHI T
A& R = 1
g =l B T[R4y - I OIHIR X - 2w YlHI6c
mLL T (4000m2LL ), BeZE9° 0 DI
As EEE L m2 3, 770
HOE R (B YHE)]) FRTER]  AsHI AT
L=6. OkmLL T
m3 188
RISy FRFER T AT 7 b
m3 188
SEEFTHL X T
7% it T = 1
EEERR O W EHLERRRRR 727 7 M EERR, AH3EIE 5
Omm
m 84
VB R AL
m3 0.1
eI ABFESE  457E (2. 300 2. 40t/m35R
i), MEHRES R ) R AS 1T
U (13) , A%EIE : 50mm, SR E 0 3. m2 3, 770
iz T
= 1
_ 1 — %l:m%/a\




T

TH4 | R6fL: EEIBER 18- FHE

L ERETE (PRl FEXy TH M HERT - (ETE
) THERXS TH RS
TFX gy « TRE - FER - FmB1 FS <X{va e (iffED) & (4mE) B R
BET Yo T
7% it T = 1
B4 o iRE PRI EAs (13) |, FHJE25mm
t=25mm m2 35
Br7Ed 0 ol E
"I
m2 25
ERIER LB
m3 2
R PR TR T
7% it T = 1
A PR TR T TRy i AV b VAR, ik
AEREX S D ERR 15em, BRBHEE &
157 m 60
A X TR i TIFER Sy A A/ b TRAIR, Bk
AR Ay S 150m, YEHEAS 5
=) m 150
A PR TR i TRy i AV b VAR, ik
AEREX Ay AR 30cm, BBHEAG  H
=) m 230
RIEEE T
= 1
AR EEAH B & A
AH 6
ARIEH G B W B
AH 30
— 2 —

=
N
Jjm



=

9

o2

g
D

ffz¢ (K01)

TH4 | R6fHL: SRR 18- mEE i LH (WP HEX T PRAERE - 1
) THEXy H K ERE
THEXSy - TAE - ' - Bikk HLAZ e (4E) KR e

[EREM -

= 1
eI ER
= 1
EST T
= 1
R
= 1
T R A i 2
1118
=) 1
Limfa g (FGk L)
= 1
T H
= 1
Bl
= 1
Tl
= 1
— I A
= 1
TS
= 1
-3 - T I




o2

THHERIER (A01)

TH4 | Re6fL fEERER - mEEE SEEETE G0 TRl FEXy TH M HERT - (ETE
) THEXS5 TH RS
TEXSy « A - Fflp - A Hikg <X{va e (FimE) ¥ (4 Frm R
TH B BAR K OV 7 T B Bl 4R
= 1
T
= 1
-4 - {8 B I




